Algorithm TPL-refinement (q. S,,.z. P.s,. Nys,)
1. for each point p in S,
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for each other point p'# p in S,
if dist(p.p")= dist(p.q)
Sﬁm?: Scnn’ - {_P} goto 1
if p 1s not eliminated 1nitialize foVisit(p)=

repeat

refinement_round(q. S.,4. P Nisy)
if (S,,,/~<) return // terminate
P,s=N,= //initialization of next round
Let N be the lowest level node that appears in the largest
number of sets toVisit(p), where p € S.q
remove N from all toVisit(p) and access N
if Nis a leaf node
P={p/pe N} //P contains only the points of N
if N is an intermediate node
Nys={N' N'e N}//N,5 contains the child nodes of N

End TPL-refinement

Algorithm refinement round(q. S, P Nisir)
1. for each point p in S,
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for each pomt p’ in P4,
if dist(p.p")< dist(p.q)
Send= Sena -1p} //Malse hit
goto 1 //test next candidate
for each node MBR N in N4,
if minmaxdist(p.N)< dist(p.q)
Send= Sena -1p} //Malse hit
goto 1 //test next candidate
for each node MBR N in N4,
if mindist(p.N)< dist(p.q) add N in toVisit(p)
if (toVisit(p)y= ©)
Sena= Seng -1p} and report p // actual result

End refinement round




